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Note:- You have four choices for eéach objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) {A) QUESTIONS Q-1
A S Pz S50k < rtgl{fdwxggf&b{ 1
Robbins Keynes Marshali Adam Smith | The founder of classical school of thought is:-
FeH L Al e Ji e Pt s LS S Pl QU | 2
Adam Smith Clark J.M. Keynes Marshall Macro Economics was introduced by
& e il & e bredfeab S f| 3
Negative Zero More Less Price of non economic want is:
ety 4‘;!:/'; < oy o b -0l ?Vc.dt’:”l/t‘ééf_ 4
Becomes Zero| Decreases Increases Posiive | Due to continous use of a commodity the
marginal utility becomes.
il SYTIES b1 8 061 e bbn P TS S| 5
Marginal utility | Positive utility | Negative utility | Total utility  Utility of the last unit of a commodity consumed is:
2o A S| S iy E,u Y| e
Depgndent Indepgndent Con@inous Discontinous Which variable has gapes.
variable variable variable variable
33451 ol d) =i - dﬂugdATJﬁt;'L«:f 7
Infinite Zero Negative Positive The Income elasticity of inferior goods is
Kl Utility §»6l | Supply 4~ | Price §=¢ |Demand is a function of. <& Jo b 8
Consumption
Ut & J)’u:b _:)’u:l. -« t)ff)//bci_jﬁy/ 9
Vertical Horizental Right Left Due to fall in supply the supply curve shift to:
/“ /.'/.[-J{l o:LJc(}(’ ﬁ,c, Jb/‘ -Jn.g Jrzf@zfc,uf‘yy/b/fl 10
Zero Equal to unity Greatef than Less .than If the supply curve passgs through the origin
unity unity the elasticity of supply is:
vegr | goes | eedh | aeed e tmed | 1
Vegetable market | Grain market | Imperfect market | Perfect market | One price rule works in:
Cross wisel7 7| Oval (§»% Vertical (»f | Horizental (' |'Supply curve of perishable goods is: e bbbl | 12
Profit (‘jt» Intrest s Rent w¥ Price ;,x:" The reward of capital ispvfl‘g @IM/’;LV KL | 13
ey g e o » _g VLIS | 14
c&: Six Four Three Two The numbers or types of laws of returns are.
~' Yy o o - GMu'finJaﬂy,JV 15
! Organization Capital Labour Land Factor of production having fixed supply.
. SHy | Edve N Sosf e b K Pl Sl | 16
B Up ward From left to right Horizental Vertical The marginal revenue curve under monopoly is:
' ;—:,).bl(f}g by Yzl ¢ Lols <ot T - b oy FurpesL i ol 17
8 Bprerm|sswn of | Conditional Prohibted Free The entry of firms in monopoly is:
o overnment X : ] : N
© Ul bt ot i s f A 2 it ufk,»/:jé.éwf 18
o Normal loss | Normal profit | Abnormal loss | Abnormal Profit |in long run under perfect competition a firm gains.
- = ; : T
= o A S AL e SISE S AL S| 19
Price Enterpreneur Mutual Existance of | 5 s not included in assentials of market.
relation goods
2| el et | 2deS < deox Aoy § et S| 20
Ve //f/ Will be zero V\é'(')' r::tr::tm Will decrease | Will increase | It supply of labour increases. Then rate of wage.
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Define the Normative science.
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Answer briefly any Eight parts from the followings:- 8x2=16 -q&;’agmﬁ‘é 171 £ c,tjfc. o J's o -2

P e F (i)

Write the concept of Macro-Economics.

Write the Adam Smith's definition of Economics.
Wite any two limitations of law of diminishing marginal witiity. .u.‘ﬁup'/. #y de f‘?ulilu%ﬂ? (vi)

State any two characteristics of indifference curve.

Explain the difference between demand and desire. -q/ (‘7 Iy u/u* J"linlJ(ix)

Write down the four causes of changes in demand.

Write down two factors which affecting elasticity of demand.

Describe the concept of cross elasticity.

What is long period supply?

What is meant by Non-Economic goods -7V U1 4 (i)
b d i)
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Define the Negative utiity. w2 7St & (v)
U2 S Copnss (i)
Define the Function. A8 il
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Nl i S, B S (xi)
U2 6L (xii)

Answer briefly any Eight parts from the followings:- 8x2=16 -/ /zfelz AL 171 4T o §fe S Sitn -3

S s St £o/ (i)

Write the two limitations of law of supply.

What is equilibrium price?

When increase in supply is grater than increase in/demand, what effect will be on price?

Define the Market equilibrium.

Define the non-meterial capital.
What are external Economics?
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Write the four advantages of small scale production. -u.“'L,c' G/lgL/f‘,;g; (xii)  Define the law of constant cost? _Q/(...y/u.;;w uvz’wu
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What is extension in demand?  Sc_ byl 344 ¥ars
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What are the meanings of Labour? ‘< l[(nz‘ Ko
What is the vertical mobility of Labour? % /(. J‘d Unff e
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(iii)
(iv)
v)
(vi)
(vii)
(ix)

{xi)

Answer briefly any Nine parts from the followirigs;-~ 9x2=18 —/zfe\iz L1721 § e M vedstn -4

Define the fixed cost by giving two examples?

What is meant by Envelop curve? < i/ l;(c._ LB [}ﬁ' (iii)
What is the slope of Average Revenue and Marginal
Revenue Curves under perfect competition.

Explain the bgsic aim of a firm.

What is meant by Normal profit of firm?

Write any four essentials of market. -u:"@t)t);..lgﬁd,‘w(viii)
What is meant by day to day Market?

Write any four factors determining the size of a market.
State marginal productivity theory.

Explain the concept of minimum wage.

Write four factors of production.
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Note: Attempt any three questions.
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Explain the law of equi marginal utility with schedule and diagram.
Define Elasticity of supply. Explain it with table and diagram.

Explain law of increasing returns through table and diagram.

. Under perfect competition write down diffirent possibilities of firm's equilibrium in short run.

. What is meant by profit? why s ratio is not same for all emrépreneur? Write causes.
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Define the variable cost. ‘.‘é - /7(}/ e (i)
e A LB L S oS el e (v

2 Y SEE (V)

ceilpe Qe L p (vi)

What is meant by price Discrimination? %l W o JU31 (vii)
e Sy (ix)
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